
 

Foundation in Business Analysis - Sample Exam 

Questions & Answers 
 

Question 1​.  

A team of business analysts are following the business analysis process model. 

They have recently completed the stage which analyses the needs which have to 

be addressed.  

Which of the following represents the next stage of their work? 

A. Consider perspectives. 

B. Evaluate options. 

C. Define requirements. 

D. Investigate situation. 

 

Correct Answer: B 

 

Question 2​.  

Constraints and operational guidance are types of which of the following? 

A. Business events. 

B. Business rules. 

C. Business activities. 

D. Business processes. 

 

Correct Answer: B 

 

Question 3. 

A business case for a new system has to consider the effect of a proposal on inter- 

departmental relations.  
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In which section of the business case would this effect be considered? 

A. Cost/benefit analysis. 

B. Risk assessment. 

C. Impact assessment. 

D. Options considered. 

 

Correct Answer: C 

 

Question 4. 

An organisation is moving its headquarters. Managers recognise that this will lead 

to disruption and a short-term loss in productivity.  

How would this effect be categorised in a cost-benefit analysis? 

A. As an intangible cost. 

B. As a tangible cost. 

C. As an intangible benefit. 

D. As a tangible benefit. 

 

Correct Answer: A 

 

Question 5 

In which of the following circumstances is competitive rivalry between firms likely to 

be high? 

A. When the cost of leaving the industry is very low. 

B. When buyers find it difficult to switch from one firm to another. 

C. When there are few firms competing in the marketplace. 

D. When the market is growing slowly or not at all. 

 

Correct Answer: D 
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